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Interactive Question

A golf ball is fired at a bowling ball initially at rest and

bounces back elastically. Compared to the bowling ball,
the golf ball after the collision has

A) more momentum but less kinetic energy.
B) more momentum and more kinetic energy.
C) less momentum and less kinetic energy.
D) less momentum but more kinetic energy.
E) none of the above.






Interactive Question

Consider two objects with different masses. Is it possible
for the two objects to simultaneously have the same
momentum and kinetic energy?

A) No, this is never possible.

B) Yes, this is possible for a certain non-zero velocity.
C) Yes, this is possible for many velocities.

D) Yes, but only if their velocities are both zero.
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Interactive Question

Consider two carts, of masses m and 2m, at rest on an air
track. If you push first one cart for 3 s and then the other
for the same length of time, exerting equal force on each,
the momentum of the light cart is

A) four times
B) twice.

C) equal to

D) one-half
E) one-quarter

the momentum of the heavy cart.



Interactive Question

Two objects are sitting on a “frictionless” air hockey
table. Object A has twice the mass of object B. Both

objects are pushed with the same force for the same
distance. Which statement is true?

A) The objects have the same momentum UE different
kinetic energies.

B) The objects have the same momentum and the same
kinetic energies.

C) The objects have different momentum and different
kinetic energies.

D) The objects have different momentum but the same
kinetic energies.



Interactive Question

OosmEQ two carts, of masses m and 2m, at rest on an air
track. If you push first one cart for 3 s and then the other
for the same length of time, exerting equal force on each,
the kinetic energy of the light cart is

A) larger than

B) equal to

C) smaller than

the kinetic energy of the heavy cart.



Interactive Question

A small car meshes with a large truck in a head-on
collision. Which of the following statements concerning
the magnitude of the collision force is correct?

A) The truck experiences the greater average force.

B) The small car experiences the greater average force.

C) The small car and the truck experience the same
average force.

D) It is impossible to tell since the masses and velocities
are not given.




Interactive Question

A compact car and a large truck collide head on and stick
together. Which undergoes the larger momentum

change?

A) car

B) truck

C) the momentum change is the same for both

D) you can’t tell without knowing the final velocity and
combined mass.



Interactive Question

A compact car and a large truck collide head on and stick

together. Which undergoes the larger acceleration during
the collision?

A) car
B) truck
C) both experience the same acceleration

D) you can’t tell without knowing the final velocity and
combined mass. |
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